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Al 1,948,414
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O 2R A2
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[ ZEUES &AM XS
30,000,000& *14! 30,000
85 ME0s gsteD] AR 6,000 5,000 1,000
307 glztol & 6,000 5,000 1,000
04 QIZHHAMAIH 2 & 6,000 5,000 1,000
0 &5 dgots Stheld| AKX
6,000,000& *14] 6,000
a3 U652 & HAKE 12,000 10,000 2,000
307 gl2to| & 9,000 7,000 2,000
04 QIHHAIAIH 2 £ 9,000 7,000 2,000
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9,000,000 %14 9,000
04 QIZHHAMAIH 2 £ 20,000 20,000 0
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307 212+01& 35,634 71,255 A35,621
= 17,817
= 5,345
Al 12,472
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= 17,817
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ZEIMOIEAIA Ofxl XA (EX) 260,000 400,000 140,000
[ 108,000
Al 152,000
307 elztol & 260,000 400,000 140,000
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Al 40,500
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= 16,200
Al 37,800
307 @20l & 54,000 60,000 26,000
=S 16,200
Al 37,800
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54,000,000 * 14! 54,000
< 16,200
Al 37,800
U8 d=ZH Mzl NJ(EX) 41,400 46,000 24,600
= 12,420
Al 28,980
307 el2to| & 41,400 46,000 /4,600
S 12,420
Al 28,980
02 QB HANEEX 41,400 46,000 4,600
O =28 sl=ZH Mzl X2
41,400,000& *14] 41,400
[ 12,420
Al 28,980
NS =etggd2a i 19,800 22,000 22,200
= 5,940
Al 13,860
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= 5,940
Al 13,860
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< 5,940
Al 13,860
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=S 19,800
Al 45,900
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65,700,000 * 14| 65,700
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Al 45,900
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= 18,000
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=S 18,000
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< 18,000
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Al 12,600
307 el2to| & 18,000 20,000 /2,000
= 5,400
Al 12,600
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18,000,000 * 14 18,000
& 5,400
Al 12,600
22 HAZ HAEIY JHa X(EX) 72,000 80,000 28,000
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Al 50,400
307 elzto| & 72,000 80,000 /8,000
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Al 50,400
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Al 37,800
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= 16,200
Al 37,800
02 BI2IAMAIRIEE 54,000 60,000 26,000
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Al 37,800
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= 54,000
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REEIEEPSTp R EYEES 14,426 0 14,426
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A 7,213
307 912101 & 14,426 0 14,426
= 7,213
Al 7,213
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= 7,213
Al 7,213
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A 135,000
307 QI2H01 & 180,000 200,000 £20,000
= 45,000
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O 3J188I| axt
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2 5234l 20,250 20,250 0
O 2323 % HMAl 13,250
O &Jigs 1,000,0002 122 12,000
O stigs 100,000 »12& 1,200
O =43 3]
50,0008 %12 50
O A2 &BlIsXsl 7,000
O AMZ&Hl 8 1,000,000 %52 5,000
O A2 =5 35|
2,000,000& *14] 2,000
03 A= &I 14,000 14,000 0
O M8ns 24 7,000,000 271 14,000
ANg2atmat 22 & guEs 8524 8,384,333 4,724,081 3,660,252
= 3,983,870
Jl 520,278
< 1,432,523
Al 2,447,662
SIRMEE L 2| 8,384,333 4,724,081 3,660,252
= 3,983,870
Il 520,278
= 1,432,523
Al 2,447,662
ot 2l 173,313 166,938 6,375
101 @12A4H| 16,401 15,026 375
04 JIZtN22 XS 2+ 15,401 15,026 375
O =7t N2 2t
78,8803 x3& »60! 14,199
O XL L NE23M HE=2Y
80,0802 x3H x5 1,202
201 Ler23| 17,942 25,942 28,000
01 At2teltl 17,162 25,162 /8,000
0 get+=EH 9,080
O 23 QHLH 24Xt HMIZ
10,0002 +200 2,000
O =x 23 &)| AEEH =8
204,000 *200H 2 4,080
O ==zt oHfE H4= & BHAY|
100,0002 x 1574 %23 3,000
0 S&gl 3,520
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O 2xt= 462
O M=2 | 2Kt
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[ 23 B3 =2
100,000 *10E X[*23] 2,000
02 2324l 780 780
] 2383 780
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202 Ot 2,720 2,720
01 =WHO4b| 2,720 2,720
] 23 22 20,000 x2H 32 1,280
[ 23 84 9
80,000 2«32 33 1,440
207 A IHLH| 20,000 20,000
01 ¢ EGH| 20,000 20,000
O 2Z&ANK &Y st=ls
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301 LEtBEF 9,250 9,250
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O ez 70,0003 *3H 43 840
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O 2=z 70,0002 383! 1,680
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307 QI2HOI A 34,000 64,000
02 QIRHEAAIH B X 30,000 60,000
[0 AL ¢l THE At
30,000,000 14! 30,000
05 QIZIRIErZ 4,000 4,000 0
O dAIIE= B3 4,000
O dAIIg=E = EX3
3,000,000 14 3,000
O &#dJg= 1=l
1,000,000 14! 1,000
308 AXIHMSOIH 2,000 0 2,000
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401 AlZHIZL SO 72,000 30,000 42,000
01 Al&H| 72,000 30,000 42,000
38 S A=UH(X0H) 2 0HeY
35,000,000& * 14 35,000
O =528 dHFA e
37,000,000 *14! 37,000
Eat=e 23| 207,300 207,783 A483
401 AlEHIZL SO 107,300 107,783 A483
01 Al&HI 87,000 87,000 0
O =3 MAd gd8dxelll= 0t
7,000,000& *1A 7,000
O =t & N2 d=s24+ SA
40,000,000 *14] 40,000
U SstHetie 84X & 3ol
20,000,000 * 14! 20,000
O Xde 222 A2 = 83 £
20,000,000& » 14 20,000
02 Zeltl 20,000 20,000 0
O =7t & & N2 E+3At &
20,000,000 *14] 20,000
03 Al HHI 300 783 N483
O 23t 2=FHISAt 300,000 *14] 300
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01 QI X2 AL E A (KHMITHE) 100,000 100,000
U gERatma 2434
100,000,000 14 100,000
dSetn 2e| 15,120 15,120
307 el2to| & 15,120 15,120
02 2B YA R E A 15,120 15,120
O &l 22l X3
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O gt MdSHA S
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= 302,000
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Al 218,000
01 Al&H| 434,000 205,000 229,000
Ooigstn s 2+ & FHEH|
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(] XIS ABEZ ) A2 B4 & =HE
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40,000,000 * 14! 40,000
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0 28 =g S8UR =8|
15,000,000& * 14! 15,000
& 7,500
Al 7,500
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16,000,000& =14 16,000
= 8,000
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O SA0MEES CHE £ U2 25
64,000,000 1A 64,000
& 32,000
Al 32,000
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402 SIZHXHE01 A& 170,000 337,000 A 167,000
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= 11,250
Al 11,250
401 A& HIX R0 22,500 0 22,500
= 11,250
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